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S.0.V d.f SS MS F cal
Total 14 240
Treatment 2 120 60 6_*
Error 12 120 10
LSD=s"dx to.05
\/ YXMSE /r x to.05
VYX10/5 X Y = ¢
20 17 14
8
N =20

R=20/(2x2)=5

C.F=(ZX)?/N = (484.92) / 20 = 235147.40 / 20 = 11757.37
Total SS = 13676.7 — C.F

Tr,ts SS = (66483.88 / 5) - C.F = 13296.78 - C.F

A SS=(130141.17/10) - C.F=13014.12 - C.F

B SS = (117660.82 /10) - C.F = 11766.08 - C.F
ABSS=Trts SS-ASS-BSS



S.O0.V d.f SS MS F cal.
Total 15 1919.33
Treatment 3 1539.41
A 1 1256.75 1256.75 53"
B 8.71 8.71 +,YVns
AB 273.95 273.95 V5T
Error 16 379.92 23.74
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S.0.V d.f SS MS F cal.
Total e 96
Treatment v 24 8 2
Rows Y 24 8
Columns r 24 8
Error 6 24 4




